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Q.1:- Shantanu borrowed Rs. 2.5 lakh from a bank to purchase one car. If the rate of
Interest be 6% per annum compounded annually, what payment he will have to make after

2 years_6 months?

GO e 5§ ST B3 o g 88 R e e

(A)189315  (B)389335 (C)489425 (D)289325  (E)None of these
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Q.2 :- Ashopkeeper fixes the marked price of an item 50% above its CP. The percentage of
discount allowed tg_ gain 20% is

U GPTGR mmamqwmguqmﬁso%amﬁﬂfMW%l
20% YT B3 & 18 U ¥ DI Ufa=d
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(A)16.67% (B)20.66% (C) 20% (D) 30%  (E)None of these



Q.3 :- Ashopkeeper sold an article at profit of 30%. If both the cost price and selling price Is
lowered by Rs. 100. Then the profit would be 4% more than before. Then find the cost price

of the article?

'?100 aamuugﬁa%ﬁsoém armfw?%vl %mmﬁqmﬁ?ﬁ .ﬁ

(A)780 (B)820.20 (C) 758.20 (D)850  (E)None of these




Q.4 :- Sita mixes 70kg of sugar worth Rs.28.50 per kg with 100kg of sugar worth Rs.30.50
per kg. At w at rate shall he se]l the mixtyre galn 10902

% -1 28.50 %ﬂ=ﬁ3o 50 390 Ufd foat
2110%

wm‘umaﬂﬁ fhd a3 TR 2

(A) 32.64 (B)31.50 (C)30.46 (D)29.75  (E)None of these




Q.5 :-Aand B can do a piece of work in 72 days . B and C can do it in 120 days. C and A

can do it in 90 days. In hoy maqy days all three together can do the work? ,
Agﬁ'\'B mﬁ , ﬁﬁ%%mgﬁ?c 120_fe1.H. % Gdd_ gl C 3R
ASH 90 B & | IFI [ 39 BT @i fohd- i1 H &% Iod 872

(A)80 (B)120 (C)60 (D)150  (E)None of these
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In each question two equations numbered (1) and (11) are
given. You have to solve both the equations and mark appropriate answer.

(@) If x>y
(b) Ifx<y
() If x>y
(d) Ifx<y

(e) x =y or no relation can be established




SBI CLERK 2022

Q.21 :- L (x—18)*=0 II. y> =324
Q.22 :- .32+ 7y —6=0 Il. 6(2y?+1) =17y
Q.23 :- . 4X 2 —14x+12=0 I1. 2y* —3y+2=0

Q.24 :- IL.x2—1=0 II. y* +4y+3 =0

Q.25 :- |.X =-70496 1. y2=7921
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What should come at place of the question mark (?) in the following number series ?

1. 2,17,45,99, 205,?

(A)575  (B)416 (C)415 (D)419  (E)425
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What should come at place of the question mark (?) in the following number series ?

2. 432,443,463, 500, 562 ,?

(A)644  (B)648 (C) 671 (D)647  (E)657
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What should come at place of the question mark (?) in the following number series ?

3. 13,15,21,33,53,7

(A)83  (B)8l (C)84 (D)82  (E)85
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What should come at place of the question mark (?) in the following number series ?

4. 177,170,159, 146 ,7, 110

(A)125  (B)134 (C)131 (D)127  (E)129
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What should come at place of the question mark (?) in the following number series ?
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5. 243,7,252,279, 343, 468

(A)245  (B)247 (C)244 (D)248  (E)249
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What value should come in the place of question mark(?)in the following questions?

P

Q.2:- ?+0.5x%x12 =2244

(A) 374 (B) 376 (C) 376 (D) 378 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

&N

Q.3:- 2/15+25x40=375+7

(A) 65 (B) 55 (C) 75 (D) 35 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

Fi

Q.1:- V5929 + 729 = V10404 + ?

(A)5 (B) 11 (C)9 (D) 7 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

Q.4:- 25.75+ 120.025 +20 — 30.775="7

(A) 135 (B) 136 (C) 137 (D) 138 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

Q.5:-600x %2+ 180 — 60 + 210 =7

(A)750 (B) 880 (C)740 (D) 780 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

&N

Q.6:- (182+162) + 40 ?

(A)14.5 (B) 13.5 (C) 175 (D) 18.5 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

&N

Q.7:- 500 of 25% +400 of 20% = 300 of ? %

(A)60 (B)80 (C) 40 (D) 120 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

&N

Q.8:-0.4+0.44 +0.4444 + 0.44444 + 0. 444444 =7

(A)2.173484  (B)2.1732284 (C)2.617284 (D) 2.167246 (E) None of these
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What value should come in the place of question mark(?)in the following questions?

&N

Q.9:- ¥ x812x273+243 = 3

(A)14  (B)15 (C)16 (D)17 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

Q.10:- 350+160 x3 = 440+7?

(A) 390 (B) 400 (C) 420 (D)460 (E) None of these
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Directions (11-15): Study the following graph and answer the following questions.

=T (W.11-15): - fa€ 71T 3@ &1 &9 T ¢ 3R YD T Y9 ST IR G |

Given Line Graph shows the number of students in three school in 6 different years
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Q.11. Total numbey of students in the SChOOI@ZEr'H[he years %9&% 1994 and 1997 together?
U.11. 1992, 1994 1997 H TP HTY Ih ol

(1) 1670
(2) 1950
(3) 1590
(4) 1580
(5) none of these/%qﬁ q Hﬁ'g&lﬁ 200
700 792 /\
600
1 650\ \ ;
600 52)/ \\\//
o 56;\\\\450// 520 450 —X
400 N v
300 350 490 380 40 L7

200

100

1992 1993 1994 1995 1996 1997
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Q.12. W at

012.9 qu@—cr
(1) 500
(2) 502
(3) 506
(4) 508

(5) none of these/%qﬁ q Hﬁ'g&lﬁ

800

A at 09:00 AM

he approximate av!? age ng %studenté In School Y over all the years together?
t)
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Q.13. What was the difference between the total no of students in all the schools together in

1993 and 1

B0 at 09:00 AM i

0957
T.13. 1993 6%1 1995 T T 1Y W THdll # o ST D TBT W HT 3R UT?

1) 320
(2) 350
3) 270
(4) 250

(5) none of theselsqﬁ q aﬁé——ré’r
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\/ Y
scg 300 389 400 7

1992

1993 1994 1995 1996 1997



than the total
Y.14. 1994
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Q.14. Total no o

of stude%in School X and

% Y ZH
ﬁmﬁigoow%‘zﬁ ¥
(1) 18.26%

(2) 25.67%
(3) 32.50%
(4) 39.78%
(5) none of these

[T ¥ PIETe

800

700 -

500
400
300
200

100
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f students in School Y and School Z together in the year 1994 is what % less
Sch

ot

1Y
qﬁﬂ'@ﬂ 1997 H ¥pd X SR TPAY &

In the year 1997 ?
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52)/ SN X
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Q.15. Number of students in the School Y iIs what % of the total no of students in all the three
schools togeth{gr

rin 199372
15. TP Y 'msjﬁa%%i'@nw%ﬁwwu?ﬂﬁwﬁﬁwma’fﬁmm
%W'FIT%
(1) 45%
(2) 39%

(3) 35%
(4) 52% 800

(5) none of these/'s'-'-l'fr '\ﬁﬂﬂ'&cﬂﬁ 200 | 700
‘ -, as 600
N

52)/ L >
¢ 7
500 50\450/ a0 569,

0 520 450 ——X
400 N/ v
300 350 100 380 0 .z
200
100

1992 1993 1994 1995 1996 1997
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